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1. A control system is shown in Fig.l; Please find the followings:

(D) G(s) =X(s) / T(s) (10%)
@) Dampi}ng ratio { (5%)
(3) Tr (Rising Time ) (5%)
) fp (Peak Time) (5%)
(5)Ts (Settling Time) (5%)

(6)Mp (Overshooting Max) (5%)
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2. Find the followufg for t\le system shown in Fig2 & Fig.3
ST N I
(1) Gain margin (10%) ' |
(2) Phase margin (10%) .
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3. Given a control system shown in Fig.4, find the 'followingrfor the system.

(1) Sketch the root locus for the system

(10%)
(2) For the stability, find the rangeof K (10%)
R(s) + _ K C(s)
6s) = (s+1)(s + 23+ 3) »

Fig.4

4. Determine whether the following control system is observable (10%)

-2 -1 3 )
X =Ax + Bu = 0 -2 1t fx+ |[; |u
' -7 -8 9 2

5. Please explain the method (or theory) for deciding the stability
of a control system by using the Nyquist Diagram. (10%)




